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Introduction

I made B-field in the direction perpendicular and parallel to
PMT’s photoelectric surface.

Then, I measured PMT'’s efficiency.



Results

I made B-field in the direction perpendicular to PMT’s
photoelectric surface.

Then, I measured PMT's efficiency.

I defined this red arrow as positive direction of B-field.
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Then, I measured PMT’s efficiency in some coil currents.
I defined this red arrow as positive direction of B-field.
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I made B-field in the direction parallel to PMT's photoelectric
surface.

LED current was Pulse 62.5 mA.
Then, I measured PMT's efficiency.
I defined this red arrow as positive direction of B-field.
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Efficiency
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To the next

« I'm going to examine effects of Earth’s magnetic field on
PMT’s efficiency.
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